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THOUGHT OF THE DAY

IF YOU GET TIRED,
LEARN TO REST
NOT TO QUIT.

———
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STUDENT’S CORNER

Wiharika Jha & hours ago

Thank you for the class sir &2
Homework answer option C

fh GF  REPLY

Shivani Jaiswal 5 hours ago

Ans =C ...thank u sir amazing session

oy GH REPLY

Rajat Sahu 14 minutes ago

thank you sir for this session,
Homework - ans -option C

oy GH REPLY

Muskan Rai & hours ago

answer = option c
thank u sir for wonderfull session

oy GH REPLY

Raju THAKUR 6 hours ago

Ans is option ¢ to deceive thank you fo

Madhumeoy Mondal & hour
Option C

o &R REPLY

Swrbhi Sinha 5 hours ago

Option cocccc confirm

oy LR REPLY

Meha Singh & hours ago (ec
Option 3

ob 1 &R REPLY
Anupa Kerketta 6 hours age

Hw ans (C) To deceive
Thank you sir

oy &R REPLY

abhay singh 4 hours ago
Answer is option (c)

oh 1 cR REPLY

Shivam Sinha 4 hours ago

C - to deceive

anu sharma 4 hours ago

To deceive

oy GH REPLY

Bharti Prajapati & hours ago
Option 3

oy GH REPLY



WORD OF THE DAY

(NOUN): G’Q): fraud
Synonyms: miscreant, rogue
Antonyms: hero, angel
Example Sentence:

He is known as a notorious knave of this

arca.



WORD OF THE DAY IMAGE




Find out the error, if any. If there is no
error, the answer is (e), i.e. No error.

(Ignore the errors of punctuation, if

any.)



Q1. In order to streamline (a)/ the movement of
vehicles during (b)/ the festival, traffic police has (c¢)/
chalked out diversion plans. (d)/ No error (e)
(a)A

(b)B

(©C

(d)D

(e)No Error

Option C

Explanation: Replace has with have
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Q2. (a) In the union Budget of 2020-2021, /(b) much of

the problems related (c)/to human development /(d) have

not been properly addressed. /(e) No error
(a)A
(b)B
(©)C

(d)D
(e)No Error Ans.(b) Change ‘much of the problems’ to

‘many of the problems’. Because ‘much’ is used
before uncountable nouns and ‘many’ is used
before countable nouns. ‘Problem’ is a

countable noun.
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Q3. (a) It was apparent for (b)/ everyone present
that if (c)/ the patient did not receive medical (d)/
attention fast, he would die. (e¢)/ No error.
(a)A

(b)B

(c)C

(d)D

(e)No Error

Ans.(a)

Use ‘to’ in place of ‘for’.
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Q4. Whatever be the work (a)/ that which you
undertake (b)/ put your best efforts (¢)/ in it. (d)/ No
error (e)
(a)A

(b)B

(c)C

(d)D

(e)No Error

Ans.(b)
‘That which’ is redundant; simply ‘that’ will
do.
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Q5. He has been working on (a)/ the problem

from a long time (b)/ but is still not (c¢)/ able to
solve it. (d)/ No error (e)

(a)A

(b)B

(c)C

(d)D

(e)No Error

Ans.(b)
The correct preposition is to be used.

We work on something ‘for’ some time.




Which of the phrases (a), (b), (¢), and (d)
given below each sentence should
replace the phrase printed in bold type
to make sentence grammatically
correct? If the sentence is correct as it is,
mark (e), i.e., No correction required, as

the answer.
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Q6. We had not only helped them with money

but also with new machinery and raw material.
(a) not only helped them by
(b)helped them not only with
(¢) helped not only to them with

(d)not only been helped them by

(e) No correction required

Ans.(b), Replace ‘not only helped them
with’ with ‘helped them not only with’
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Q7. All you really need is a mobile, a copy,

and a pen.

(a) You really need are
(b)Your really need are
(¢) You real need is

(d)You really needed is

(e) No correction required

Ans.(e) No correction required




WORD REPLACEMENT BASED ON
LATEST PATTERN
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After you believe(A), you need to commit time to

learning—say an hour every day to explore(B) that
new software at your workplace and finally, you will
repetition(C) in engage(D) and application of the new
knowledge to convert it into a skill.
A.A-D Answer: B After rearrangement correct
B.C-D sentence will be ¢ After you believe, you need to
C.A-C,B-D  commit time to learning—say an hour every day
D.A-B,C-D ¢ explore that new software at your workplace
E.B-D and finally, you will engage in repetition and
application of the new knowledge to convert it
into a skill.”
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9. Your command over language is not stepping(A) but what

matters is critical(B) into your audience’s shoes and

working hard to entertaining(C) in a relatable,

communicate(D) and informative manner.

A.A-D
B.C-D
C.A-C, B-D
D.A-B, C-D
E.B-D

Answer: D After rearrangement correct
sentence will be “Your command over language
is not critical but what matters is stepping into
your audience’s shoes and working hard to
communicate in a relatable, entertaining and

informative manner.”
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10. Bhagia, who had failed at a presentation(A) years earlier,
analysed their pitching(B) and found the problem was
the startup(C) and the kind of investors they were

pitch(D) to.
A.A-D
B.C-D Answer: C After rearrangement correct
C.A-C,B-D sentence will be “Bhagia, who had failed at
D.A-B, C-D a startup years earlier, analysed their pitch
E.B-D and found the problem was the

presentation and the kind of investors they

were pitching to.”
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# 11. Although the Central Bureau of Investigation argued(A)
that cold-blooded interpreted(B) by security forces
would not require any sanction for prosecution(C), the
court murder(D) the requirement of sanction widely.

A.A-D

B.C-D Answer: E After rearrangement correct
C.A-C,B-D sentence will be “Although the Central
D.A-B, C-D Bureau of Investigation argued that cold-
E.B-D blooded murder by security forces would

not require any sanction for prosecution, the
court interpreted the requirement of

sanction widely.”



Rearrange the following sentence to
make a
contextually meaningful paragraph and

then answer the following questions.
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A) We can try to understand the impact of COVID-19 on
agriculture with three questions.
B) The COVID-19 pandemic has led to global concerns on the

state of agriculture and food security.

C) On the other, farmers face a stalemate as they are unable to
work on their land and gain access to markets.

D) On the one hand, the FAO has warned of a “food crisis” if
countries do not protect vulnerable people from hunger and
malnourishment.

E) One, does the world have enough food to feed its people? Two,
is food available at affordable %rices? Three, how are farmers

BDCA
coping with the lockdown?
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12. Which of the following will be the third sentence
after rearrangement?
(a) D.
(b) C.
(¢) B.
(d) E.
(e) A.

BDCAE
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13. Which of the following will be the second sentence
after rearrangement?
(a) D.
(b) C.
(¢) B.
(d) E.
(e) A.

BDCAE
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14. Which of the following will be the last sentence
after rearrangement?
(a) D.
(b) C.
(¢) B.
(d) E.
(e) A.

BDCAE
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15. Which of the following will be the fourth sentence
after rearrangement?
(a) D.
(b) C.
(¢) B.
(d) E.
(e) A.

BDCAE
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16. Which of the following will be the first
sentence after rearrangement?
(a) D.
(b) C.
(¢) B.
(d) E.
(e) A.

BDCAE
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He said the statue (1) had been permission (2) with

the installed (3) of the gram panchayat, but the
administration (4) removed it deliberately.

(a) Both 1-3 and 2-4

(b) Only 2-3

(c) Only 1-4

(d) Both 1-4 and 2-3

(e) None of these



HOME WORK ANSWER

He is in the habit of throwing dust in

his superiors eyes

A. To put sand into eyes
B. To make blind

C. To deceive

D. To show false things
E

. None of these






